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1. Yedton fwia wre ATees o ses TF et Sieee 19 39, Fad, TE | T
(a) T T HiA Fie AUl THAG 990 FVEN S FIRE fao B Siee S,
(by Y BT TS AEFE TS BT AT HiE) fAeTl U Sl W
(©)  WIERT-TI HHRE € el fae SEet W,

o faumitest oW faum/famt = oy ?
(1) () ®H (2)  (b) & () FF
(@) (a) O (c) FH 4 (@) () fa ()

Three zones of varying properties have been identified in the earth i.e. crust, mantle and
core.

(a) The area of change in density between sial and sima is known as Conrad discontinuity.
(b)  The area of sudden change in seismic waves velocity is known as Moho discontinuity.
() The mantle - core boundary is determined by Gutenberg discontinuity.

Which of the statements given above is/are correct ?

(1) (a) only (2} (b) and (c) only

(3) (a) and {c) only 4) (a), (b) and (¢)

2. YU TR EEEE FIVE T SEES W TAE A 9@ 2
1 T (2) o™ @) =W @
Which of the following macro nutrient is lost much with the soil erosion ?

(1} Nitrogen (2) Potassium (3) Phosphorous (4) Tron
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3. @ F. 13 W ®. I H A I $EA WO [COeAl AF TOTSIGT HTF I A9 F@

e % 1 at . 11
(a) SETEH ARSI (i) TEENE @A AR, T TS g
(b) TweA (i) Frade, qEETE A
(c) IEE AFIES (i) FrewTn
(d) whuwH (iv) WIS, @ TyuTed

@ & © @
M @ @ @
@ @) & 6 @
®) @) 6 @
@ O v @ @

Match the List I and IT and select the correct answers by using codes given below,

List I List 11
(a) Carbon dioxide {iy  Use of Nitrogen fertilizers, Livestock wastes
(by Methane (ij) Refrigerators and Air - conditioners
(c) Nitrous oxide (iii) Deforestation
(d) CFCs (iv) Rice paddy, Intensive cattle farming

(a) (b) (o) (d
1) @) @) @ @
2) @) (v) @) ()
@ @) @ @ )
4 @ Gv) (@) 3§

ool RIATATS AT /SPACE FOR ROUGH WORK
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4. W faumre FER w87 9T e fae
faum (a) . O vES WHIR T ARdE Smues dRre o,
faam (b) : T ARG AT TSRO ISR ST,
1y faur (a) snfor (b) A TR 3R M FA9M (b) ¥ (2) ¥ AP TEFN/ FAT FR.
(2) fagm (a) 307 (b) I FAT TRa TG A9 (b) T (a) D AT TTRIHT0/ FITOT T,
() T (a) WeR o & faum (b) 9% o=,
4) Taum (2) 9% IR 9 f3um (b) R 1w,
Examine the following statements and select the correct option.
Statement (a) : Rural - urban migration is a characteristic of Indian population.
Statement (b) : Migration from the rural area is basically for employment.

(1) Statement (a) and (b) both are correct, statement (b) is a correct explanation of (a).

(2) Statement (a) and (b} both are correct but statement (b) is not the correct explanation
of (a).

(3) Statement (a) is correct but statement (b) is not correct.

(4) Statement (a) is incorrect but statement (b} is correct.

5. TE W YOI ot Sefiwfen Troe smoen e M W, el WM.
Q) franite dags (2) viafwanie Hagsh
(3) fifsra dags @) atetH! T T
Remote sensing systems which measure naturally available energy is called as
(1) Active sensors (2) Reactive sensors
(3) Passive sensors (4) None of the above

6. UEiotal FIit ‘S Hoordl’ To SR TeaE Taedial (iHse hova dueant el
Bt 7
(1) TEEee e (2) [uM™9E A9
(3) W TR (4) WF TER

Who amongst the following compared the ‘Dandi March’ to Napoleon’s March to Paris
on his return from Elba ?

(1) Jawaharlal Nehru (2} Subhash Chandra Bose
(3)  English Journalists (4) French Journalists

FHAT WA W / SPACE FOR ROUGH WORK
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7. @ TE 1R, TS ey, IR S TIREER g @R WA, oo, S, SR S
YR A9 A AT Z1 HIVET TN 2 ?
(1) TaR wyarE (2) TSI AFCET
(3) T ASHS (@) e Twat =

He was a Mathematician, an astronomer, a scientist and a townplanner. He built big
observatoties at Jaipur, Delhi, Ujjain, Benaras and Mathura. Who was this king ?

(1) Sawai Madhavsingh (2) Raja Mansingh
{3) Raja Todarmal {4) None of the above

8.  OTHI FIUE 29 AME H A HIUE G NS TRl 7

(1) wiE 2) faeds (3) wed (4) I®
Name a country where there are no known mineral deposits ?
(1) France (2) Switzerland (3} Sweden (4) Peru

9. ‘g TRl wivrE SSuTEet T Aot g ?
1) fEc Toaway v FoAmERT
(2) WO feaddy W FOATERT
(3) HIRRS feausy W FoaE!
(4) = feadsy WO FeEEEt
What for was the Unionnist party established in Punjab ?
(1} To protect the interests of the Hindus

(2) To protect the interests of the Muslims
(3) To protect the interests of the landlords
(4) To protect the interests of the traders

10. TFU® YUK FHAT YU Jiafavardrst §9 SEi TaWYRTn 91 WRIEd wAn ad
(1) 164 33% 2) 31d5% (3) > 10% (4) 4019 45%

To control the soil erosion in hilly area bench terracing is usually practised on slopes
ranging from

(1) 16 to 33% 2) 3to5% Gy > 10% (4) 40 to 45%

o HIWTATS! SN /SPACE FOR ROUGH WORK
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11. A 19 I 11 =1 40T vt F69 G0 [owdl 36 S (codes) TS I YA FRL.
T 1 qret 11
(a) TR FAR AgH () A, T, 79
(b) TN @R (i) W, TR, 3«
() &R (iif) SO, 9, g9
(d) TREd @RARIEEITRN (iv) FE A JofE
(@ ® & @
1 @ GH @ G
2 Gy () @) (v)
@ @ v @ )
(4) (i) @) (v) Q)
Match the List I and List II and select the correct answer using codes given below :
List I List I
{a) Konkan coastal plain () Jawar, Wheat, Sugarcane
(b) Krishna Basin (ii) Rice, Coconut, Mango
(¢} Tapi Basin (i} Jawar, Bajara, Milk
{(d) Uppar Godavari Basin {iv) Cotton and Oilseeds
@ ® (© (@
O ) @ 6O
2) @ @ () @)
(@) @@ @) @ ()
4) @) @ @) @)
12. 1942 <A1 YR 81 SNarea fafevifatg yirm a=2eas Tefaoma Hifaer; afee i ?

(a) ITEON U A (b) G HYOH
(c) 3 ¥gar () oot vda
(1} (@), 3 2} (@ B3I )
B} @ B () 4) (@) (b), ©F(d)

Who were the revolutionary women of the underground movement against the British at
the time of Quit India Movement, 1942 ?

(a) Aruna Asaf Ali (b} Sucheta Kruplani
(c} Usha Mehata (d) Vijayalaxmi Pandit
(1) (@), () and (d) ) (a), () and (&)

(3) (@) () and (O @) (), ®) () and (d)

HSET SIS I /SPACE FOR ROUGH WORK
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13. wete IRftedq qur fae" Tea el Whi F10 F& 6 R -
(1) STl S o (2) e i s
(3) AU = (4) S SHA
Sprinkler irrigation system does not work well under following conditions :
(1) High wind velocity (2) High plant density
(3) Low plant density (4) Area having slope
14. wRetH TaE agme I T SRAfTE it AW 700 ppb A
3T 1750 ppb T4a A .
(1) FE4 HeEEs (2) TEIE B EEEE
(3) o 4) fad"
Of the following green - house gases, concentration has increased from
700 ppb at the time of industrial revolution to 1750 recently.
(1) Carbondioxide (2) Nitrogen dioxide
(3) Ozone (4) Methane

15. TWO© Fvm fqum a8eT 3m ? |
(a) SR " [SS FHAHEI'" TR FRO s auige! SHHTEre gie e am g

e < forafor @,

(b) ufife Fo (Wfead) 9 == FgasT FID T BV HaYS TN RO o e
fopwreht TR

(1) (a) SRR (b) T& (2)  (b) T (2) TR

3) (2) 4 (b) I T TR @) (@)F (b) W TR

Which of the following statements is correct ?

(a) Coalis referred to as “Buried Sunshine” as it was formed millions of years ago when
organic matter got buried under the layers of earth.

(b) Petroleum and its derivatives are called “Black Gold” as they are very valuable.
(1} (a) is correct (b} is not (2) (b) is correct (a) is not
(3) neither {(a) nor (b) is correct (4} Dboth (a) and (b) are correct

FoAT HIUTEE W/ SPACE FOR ROUGH WORK
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16. TOSUF! FoM S a1 T ?

(1) FrET TA INEES () TR Fi
(3) ¥ @) e T TE
Which of the following is not greenhouse gas ?
{1} Carbon Dioxide (2) Chlorofluro carbon
(3) Hydrogen (4) none of the above
17. Y& @SH, TAEE, FAGSTN, TON-J7 T H1es 7T TIR FOAE §1 IR HaaH.  [Rie S0
H § FGE o WL (A9 SIS oeA)
(a) @ TH @) T e et
(b) gE-wof (i) 1, 9% T IR
(c) TRER (iii) TG WA () TR oA A
(d) =@ (iv) ¥V ISR (S3fhTen) an

@ () () @
1) (i) G) & ()
) @) @) (v) @
@ Gv) & @) G
4) (v) (i) (@) @)
Parent rock, climate, relief, flora - fauna and time are the factors of soil formation. Relate
the following factors with the activities they perform by matching the following,

-

(a) Parent rock {i) Thickness of soil profile

(b) Flora and fauna (i) Colour, texture, permeability
{c) Climate (iii} Rate of humus formation

{d) Time (iv) Rate of weathering

@ ® (@ )
1) G @ @ @)
(2) @) @) @) @
3 vy @ @ (@5
(4} (v) (i) @ ()

FeAl RIS 9P /SPACE FOR ROUGH WORK
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18. WETUH! HITA FER 2007 TS IGUT T (Earth Hour) 7 H&eqd siwig w99 o
AEEUATE! FHA FEA TATEES AvE HEF SUATEIS! AT S0 ?

(1) Has (2) faEHt (3) wd (4 e

In which of the following cities the idea of “Earth Hour’ in 2007 originated with simple
appeal to people to turn off lights for an hour to raise awareness about carbon pollution ?

(1) Mumbai (2) Sydney (3) Perth (4) London

19, FoRg w31 W TEqs) HeUra Yal TEd 99 98 VamEd AT wE 399 [ ?

(1) oo qgl (2) o0 gfaEEs 93

(3) TS AE (4) FTotw T T

In which strip cropping strips of some legume or grass are left over permanently in the
field ?

(1) Contour strip (2) Wind strip

{3y Both the above (4) None of the above

20. RIS QUG HIEA 26T TS FguS 01 STSqUN S1fauaTd Fwoyd 318 ?
(1) HETSA FFES (2) e sFEE

(3) UTHNE IO (4) 0o wd

Which serious pollutant from coal mines waste causes hardness of water ?
(1) Carbon dioxide (2) Nitric oxide

(3) Sulphuric acid {4) All the above

HYE HIMEEl AT /SPACE FOR ROUGH WORK
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21, e o

(a) HEEER TEd @ ot snfm wer

(by TSR Ygd i) =W, farw, W

() TEAR Tsd (i) 9E, 3w, Y

(d) TEERl YEa (iv) ¥ Wea

@ () () (d)
) G @) @ 0
) @) Gv) @ ()
Gy @ @y @@ @)

@ @ @ @ 6

Match the following :

{a) Permanent settlement (i} Bombay and Madras
(b} Mahalwari System (i) Bengal, Bihar, Benaras
(c) Malguzari System (iii) Punjab, Agra, Avadh
{d} Ryotwari System (iv) Central Provinces

@ B © @
W ) @) @ 6
@ @) @ 6 @
G O @ 6@
@ ¢ @ @ 0

22, T SATHSHL AT A [EAH1 T T4, e TaH T SO Terdl Fo A1 1 o
i
(1) THNH (2) HAR (3) THeH (4) TFAA

Ambedkar hailed as one of his three Gurus, the two others being Gautama
Buddha and Mahatma Phule.

(1} Tukaram (2) Kabir (3) Namdeo (4) Eknath

HEAT FTHEE WIT /SPACE FOR ROUGH WORK
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23, FEA @ SRS 9 SERIHI FHIV O SO ded § W _

(a) AEERNY 92 feEgd (33) wmmﬁaqmﬁﬁﬁ@qﬂmqw

(b) s, s o ARV A9 Tede. dgaa TRRE aRe.

T HIT T I SR,

(1) ¥ (a) () wam (b) @ @) @) A@TE)

As the carbon dioxide content increases in the atmosphere the temperature would increase

and as a result :

(a) the climatic belts will shift from equator towards pole, the vegetation would also
shift away from the equator.

(b} insects and pests will increase in the warmer climate conditions. Thus pathogenic
diseases will multiply.

State what is possible

(1)  Only (a) (2)  Only (b)

(3) Both (a) and (b) (4) Neither (a) or (b)

24, anyrEr O1 yfaams o i sive Im9 foman

1y T (2) e (3) fe=m 4y
The false colour images display the red colour as :

(1) Blue (2) Black (3) Green (4) Orange

25, TG HIHTH W HLOAE Fvi [EHR el ?
(a) TINRS FHLY T ST T9T BId 1 WIHICAE HHEAT SIAEA SR = e
(b) HIY (el @9 Ydlgs a4
(c) TEA HIVIG HIHTH 1887 AL FHHH SHTHIVHR ARNST S .
(d) <uias fads erara™ i TRR O S GRE Y Sy fuderren oA flom

LG
(1) =T T8 (2) F¥EEg 9
(3) TS TUE FHEHT (@) IS FOT TRES

Who took efforts for the foundation of the social conference ?

(a) The group wanted social problems to be discussed in the session of the Congress.

{b) The leaders of the Congress were opposed to it.

(¢} The Social Conference was therefore organised in 1887 after the session of the
Congress.

{d) Tn order to prevent contlicts he declared that the sessions of the Conference would
not take place in the same hall of the Congress.

(1) Justice Ranade (2} Keshavchandra Sen

(3) Gopal Ganesh Agarkar {4) Gopal Krishna Gokhale

THoAT FEEST 9T /SPACE FOR ROUGH WORK
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26. SIS & FUFEA Siedl A AiAEEd oo WE #) ' W TeHidTed ®n Faw THed

TEY 3gd | e frearen Fwemadt 17 9% toe 1ig1 . o SteeaE 6 o T S50 7

(1) T=ad (2) U (3) auad (4) e

When she was the Prime Minister of India it was said of her that “She was the only man

in Indian Politics!” Her father had a tenure of 17 long yrs. For almost how long did she

reign ?

{1) Nine years {2)  Eleven years (3) Thirteen years (4) Sixteen years
27. IO FIETH SHS ARSI Hiedl aauard JTRS W ?

(1) arER (2) "o (3) TR 4y Tt

The wood of which tree is used for making matchbox sticks ?

(1) Teak (2) Sal (3) Popular (4) Eucalyptus
28. S o ;

aw T

(a) TRIIN S (i) 50°¢ semEd

(by IR ofiEt an (i) 5°%. A5 7 g

() NGB (iil) 40° 3. AT

(d) wid TG (iv) 60° <. JRRTEH

@ (b)) (@ (4
L O G Gv) 3
(2) @) @) Gy (i)
(3} vy (1) (@@ @
@) @ @ @) ()
Match the pairs :

Winds Location
(a} Roaring Forties (i}  50° S latitude
(b}  Furious fifties {ii} 5° N to 5° 5 latitude
() Shrieking sixties (iif} 40° S latitude
(d} Doldrums (iv) 60° S latitude

@ (k) () (d)
My 6 @ (v) (i)
2 @) 6 (v) ()
() @) (i) @@ @)
@ O G @) ()

THeeAT TWIMMATE S /SPACE FOR ROUGH WORK
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29. HON GYUTHIR 2@ -

(2)
(b)
(c)
(d)
1)
()

o S g FE W FS F P 096 HEB T $3,

@i e fawaen faare wor

@i SrataR foamrarms  fayefaes = e e w0,

i fEgearT=n 3faem, S19Ie o gRm & I=TY §TSit 3 AUel TR wee
CIEIR GRS (2) Toomret v

7T OIS ST (4) ST FIORE AR

Identify the social reformer!

(@)

(b)
(c)
{d)

(1)
(3)

He worked for the emancipation of women and established Punarvivaha Uttejak
Mandal.

He himself married a widow.
He translated Ishwar Chandra Vidyasagar's ”Vidhwavivah” inte Marathi.

He is also the auditor of ‘Hindustancha Itihas” ‘Abhangas of Tukaram’ and various
dictionaries in English and Marathi.

Baba Padmanji {2) Vishnushastri Pandit
Gopal Ganesh Agarkar (4) None of the above

30. WO HIVK (GUF THE AR ?

(2)
(b)
(c)
(d)
1)

Zfror TomE TRTE it g gEid WS @R ST ) WA 10% & S

qErE @R YeRRE frat gatt w1 wR o,

Tier 7 FRA TEHE BN awTH 9Rd AR,

() 2 (© 3) (@ (4)  HIowE TR

Which statement amongst the following is incorrect ?

(2)

(b)
(c)
(d)
(1)

The Godavari in the southern peninsula has the second largest river basin covering
10% of the area of India.

Next to Godavari is the Krishna basin in the region.
Mahanadi has the third largest basin in the peninsula.

The basin of the Narmada and of the Kaveri are of about the same size.

{b) (2) (o) @) (d) {4y None

AT HTHTHS AN /SPACE FOR ROUGH WORK

P TTOID T MM 1530 35 S YA 5




A 15 SO2
31. sure fimrw voE sedigd v w@ q9Se J ?
(1) Fehimer vy (2) o 3= defan
() g @ Y=
What is the alleged medicinal property of Rhinoe homn ?
(1) Cancer relief (?) Aphrodisiac
{3) Blood purifier (4) Laxative
32. GROl YR Hivl GER KO 7
(1) a1 9 =9 (2) TR I=H
(3) <HETS I (4) TifEg AR
Who is the founder of Warli painting ?
(1) Jiva Soma Mhase (2} Venkatesh Annam
(3) Chamulal Rathva (4) Govind Gare
33, WoTER It@ae faT GEYT g S § HIve FyErd wadih o ?

(1) T i wftom (2) AR R qis i

(3) I B Y aftom (@) whotE! FoRd T

What is the Central Arid Zone Research Institute (CAZRI)} concerned with ?
(1)  Soil erosion problems (2) Water erosion problems

(3) Wind erosion problems (4) None of the above

Foedl BT AR /SPACE FOR ROUGH WORK

P.T.O.



SO2 16 A
34. EHOTH! HIT TEE TREATS FERK HeAqy JTH IR qred ?

(a) IEETED

(b) IR

(©) 3 fafmm =R

(@) wifeafoeta g

(1) (a) (T (b) 2)  (a), (b) 0 ()

3) (@), () F (d) (4) oo T

Which of the following components play an iinportant role in the function of Ecosystem ?
{a) Food chain

(b) Food web

(¢} Trophic level

(d) Ecological Niches

(1) (a)and (b) (2) (2}, (b) and (©)

3y (&), (b) and (d) (4) All the above

35. TWMAE F@@ FIVE God @ 67" |uE T SR S 7

(1) 26 ST, 1949 (2) 26 SHERI, 1930

(3) 26 SHANY, 1931 (4) 24 FHET, 1930

Which day was celebrated as “Independence Day” during the pre - independence
period 7

(1) 26 January, 1949 (2) 26 January, 1930

(3) 26 January, 1931 (4) 24 January, 1930

36, TSR (E! Nino) 9 - {La Nina) T )
(1) 2 T yeiie e e aEE v2faar.
(2) TEE T YNNG HRTTR F@T AR A .
(3) <R AfFEH=n AEERYS WIS T 96 T,
(4) 2O fenfaes R SFiaes AIHE § TSR STRAET 990 SSg SR,
El Nino and T.a Nina __
(1) Both decrease water temperatures in the Eastern Pacific ocean.
(2) Both increase water temperatures in the Eastern Pacific ocean.
(3) Both increase water temperatures in the Gulf of Mexico.

(4) Produce changes in opposite direction in global temperature and precipitation
patterns.

THoAT HIAAET ST /SPACE FOR ROUGH WORK
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RE BISI AT RS Heeiht Tofavar agmayet yfrs S ur et ?

(1) TS g (2) W AEA

(3) w9 TE (4) st it

Who played a very important role of running the Congress Radio during the Quit India
Movement ?

(1) Sarojini Naidu (2) Usha Mehata

(3) Kamala Nehru {4) Indira Gandhi

38,

Yeat ST TUHEEa HIE SReR A ?

(a) TR YETEE 2/3 Wi 3% WY ¥ WV AR S9gE A,

by & Ui (HE THEY) HEw 2.7% HR.

(c) FAS1% T VI HUHE SIIH AR,

(d) FAR 70% < it feRen @ qeien WEUE Sefdwl, WhOE ¥ Ydatia R, e
foahTomTes & gUuR 3R,

"‘th:

(1) (b) &l (o) | (2) () ¥ (d)

(3) (b) 3f (d) @ o 6w W

Which of the statements given below are incomrect about water on the earth ?

=

(@) The oceans cover two thirds of the earth’s surface however the ocean water is unfit
for human consumption.

(b} Fresh water accounts for only about 2.7%.
(¢} Only 1% of fresh water is available and fit for human use.

(d} About 70% of the fresh water occurs as ice sheets and glaciers in Antartica, Greenland
and mountain ranges. Due to their location they are in accessible.

Options :
(1 () and () @) (9 and (@)
(3) (b)and (d) (4) None of the above

39.

TRATSTS UiEs Aifigd soagtE &9 (F - waste) Mol FOIR $g % G 9.
(1) T (2) <rtee (3) e (4) TR

The first authorised E - waste collection centre in Maharashtra has started at

(1) Goregaon (2) Borivli (3) Andheri (4) Santacruz

HoAT MR WA /SPACE FOR ROUGH WORK
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WroEUR! Hivrl faee gar-guren e =vA HieEs v ?

(1) =T (2) WiER (3) 42 (4) TR
Which of the following districts is known as Milk - Ghee district ?
(1) Jalgaon (2) Kolhapur (3) Dhule (4) Sangli

11, R AT 9 el W Sedae w TEe et s S 8 2
(1) & w1 1= HO. (2) e [l
(3) € 9w T FW, (4 faEma
Ishwarchandra Vidyasagar did remarkable work in which of the following
fields ?
(1) End the practice of sati (2) Widow remarriage
(3) To end dowry system (4) Marriage age
42. R TR % Afgol= Freromehftan weq &
(1) S (2) =TT
(3) it 3 gEa (4) e, it 9 ggu
Lady Dufrin Fund provided help to wornen for education for becoming
(1) Doctors (2} Nurses
(3) Nurses and midwives (4) Deoctor, Nurses and midwives
43, Siuy-fmiv FRETAREA 0T RIVR TSI T S AT FUa RO 36 2

(1) owf=® 2 T @) (4) wfEm

Give the name of a heavy metal which occurs in pharmaceutical industries and causes
Jaundice in human beings :

(1) Arsenic (2) Nickel (3) Lead (4) Chromium

el FHUTEE AT /SPACE FOR ROUGH WORK

) iy Atk wngmaeed £ N SR AN o~ o . St e e R mr A i



A 19 502

44, AMRAAH fraee O aferEe 2011 TOR Fivl O T 9 o wog e &0 g ?
(a) SRR WURE SIS 500 #ex
(b) W WA wEAEE 500 Hex
() SRR W SRS 12 Tias #e
{d) vE WA gEEe 12 s 89
(1) (b) 3 (d) (2) (a) i () (3) (a) snf () (4) (b 3T ()

Which of the following regions according to “Coastal Regulation Zone Notification 2011"
are to be conserved and protected ?

() 500 m on the landward side from low tide line

(b) 500 m on the landward side from high tide line

(¢) 12 nautical miles on the seaward side from low tide line

(d) 12 nautical miles on the seaward side from high tide line

1) Mand@ ) @and(© () @and(d (&) and()

45. faem Ao arm TR ade S Ty vaEEdt 9 werfElt va wew B8R 9 d
e ?

(a) WTAT faeem - e Yo few amE.

(b) fEE TR - R ¥ feror O,

(¢) W Ay geefean - R uvear o am.

(d) o ufeseeT - wgunE fasm TmE.

(1) W (a) FUS AR (2) (d) e 3T
@) (@) F (o) TR AR @) (b (d) T M

Choose the correct alternative of the following : there were views and counter views
during the period of William Bentinck regarding educating Indians :

{a) Sir H.A. Wilson - To give oriental education

(b) David Hare - To give local education

{(¢) Charles Trevelyan - To give western education

{d) Lord Elphinston - To give education in mother language

(1) Only (a) is correct (2) (d) is correct

(3) (a) and () is correct (4) (b} and (d) is correct

oAl HIMEE T /SPACE FOR ROUGH WORK
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46, e g7 faur fa=mm =0

(a) T HR IFE .

(b) FfFe (AR IepR .

mﬁl"’ﬂﬁ:
(1) (2) TR G (b) T {2) (b) TR T (a) TEL.
(3) (a) 4 (b) € AW (4) T (a) TR A (b)

Consider the following two statements :

{a) Male Peacock dances well.

(b) Female Koel sings well.

Now state whether :

(1) (a) is correct but (b} is not {2) (b) is correct but (a) is not
(3) both (a) and (b) are correct (4) neither (a) nor (b) is correct

47, FrEfaa ¥ gauaReien T 9 qigvien srfaasnR Sam o st
IR GEL HAEA o7 § WA STrae g,
(1) fr== (2) wHIS (3) fagasm 4 TTw

photographs taken with a single - lens frame camera is most commonly used
in a aerial photography for remote sensing and mapping purposes.

(1) obligue (2) Horizontal (3) Wide angle (4) Vertical

48. T faewa ST @eei®! FIVET SN TEUR (heavy metals)THTT SF @4 ?
(1) oS @ (2) o= S
(3) TIIUE (4) T

In which of the following plants accumulation of heavy metals is more when grown on
sewage irrigated soils ?

(1) Forest trees (2) Ornamental plants
(3) Leafy vegetables (4) Grass

Hol HFTHEIS 90T /SPACE FOR ROUGH WORK
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49, frg-m e Sifys AR Fearw Ao i -

(1) TR

() SaFTT (Frh SRgfTeRT), 9 fasgd e (AREARET )

(3) TSI

@) =iowd

The excess use of pesticides cause :

(1} Eutrophication

(2) Bio - accumulation and biomagnification
(3) Blindness

(4) All the above

50, Mo HIUEEY W e
(1) HIFREEF FIATE! GRS AN FSATE
(2) Safafaway g
(3)  “llcEe YT

(4) T FEAA AT

The Basgl Convention refers to :

(1) Transportation and dumping of hazardous waste.
(2) Threats to Biodiversity.

(3) Desertification.

(4) Solid waste management.

o HIMMEIE ST /SPACE FOR ROUGH WORK
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51. TEI® =R fAumiis! S gHeat og ?
(1) VFTRNG FUeTH 1 & aredl F SIS AMTUieT TEAd: HRUTYE R,
(2) I o SEUrEHTS WRTON Aed quit @atet WRET ared.
(3) NG S <rET 9 SR A fWR Hie U SR T G Seew.
(4) FM IR T AR TS AT FHAHS FAFA FR AAGIRF AR
Which of the following four statements is incorrect ?
(1} The rapid increase in population is the main reason for the growing demand of
agricultural products.
(2} As the demand of agricultural products increases so does the demand for nutrients/
fertilizers.
(3) India is the third largest producer of nitrogenous fertilizers in the world only behind
China and USA.
(4) The overwhelming response of agricultural productivity to the application of fertilizers
is heartening.
52. HYF WM S N TN T FIA YESTRT FIUAT IO TR AT 11 W 1998 B WRaH
FOT] FEEUIHAE! YaRl AeHaE afelE gEy 399w ?
(1) 9, %el, SHA (2) b, e, faea
(3) v, e, e (4) e, g, A
Which countries continued their normal economic ties with India unlike the U.S. even
after Pokhran nuclear test on 11 May 1998 7
(1) France, Canada, Germany (2) Germany, Denmark, Sweden
(3) France, Russia, Germany (4) Russia, France, Norway
53. YU FE T, SR @ et i werd s Whafeiia giamd fehan
G TR erard.
(1) STE TR (2) FHfRE gRw
(3) YEHIALT WRU (4) SFIR AR

Some Earth surface materials, primarily rocks and minerals, fluoresce or emit visible light
when illuminated by

(1) Infra - red Radiation (2) Thermal Radiation
{3) Microwave Radiation (4) U.V. Radiation

FHoAT HIETATS WA /SPACE FOR ROUGH WORK

P TN IOy 4~ - = 52| e o iy S ORI -~ ..




A 23 502

54. o IR ITS AT TS T B I ?
(1) ¥a gHRM ) THEAW  (3) e (4) TR
Who composed the Bharud ‘Baya Dar Ughad’ ?
(1) Sant Tukaram (2) Eknath (3) Chokhamela (4) Dnyaneshwar

55. ‘T WU Q AOVIR 9 WIE IET § FOWR'' ¢ §1% I I B 2

(1)  7ires TToIT SRS (2) <l TEEH
3) . e (4) &, e
“I shall say, what is just and do what is possible” whose motto was this ?
{1} Gopal Ganesh Agarkar (2} Dr. Ambedkar
(3) Lokmanya Tilak (4) Mahatma Gandhi
56. HIETS FeaHR T GRYAR KA 99 e foaerfiwe wvart giwan gt
. |
1) FwER (2) TS (3) W @) =0 T R

With the accession of
was completed.

(1) Kashmir (2) Junagad (3) Satara (4) None of the above

the merger of princely states with the Indian Union

57. WOI® UEHIH] HIUK HH GSaAral HR ST ?
(a) TOH DHATI AFH (size)
(b) ST SR AT &
() WRvH® enfiw fasmmama w
(d) T WIEEfTE (Physical) waier
(1) (@), ®) (0 S (d) @ (@) 3 )
(3) (@), (b) 3T () @) (a), (b) 30 (d)
Which of the following factors determine the size of a village ?
{a) The absolute size of population
(b}  Ability of the land to support the population

{c) Level of economic development in the region
(d) Physical limitations of the land

(1) {(a) (b), {c) and (d) (2) (a) and (b)
3) (@), (b) and () 4) (@) () and (d)

Foedl TS AT /SPACE FOR ROUGH WORK
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58, HEY HhicsHl ITEAG WA HHIH IR 5 =0 7 faa ol S19T9Re Sy B 99
FII0 T T HET FA 90% FATM SFE GHAST STl

facfama S wEE 3 THO 50% 3 80% 3780, forge aed HEq A 7O 40% A
STl HI St T B fauE SleR a1 ?

(a) WRAW FFT HIOTAT HiSA FHIUNT WS TE.

(b) A ISP WA BT Hisl SURT AR,

(c) YINATHYS SEAY HISTAE FTHT TA 50 T §0% 3R,

(d) WA S| W21 agail ferge Tt .

(1) a2 () 2 @F@©

(3) @H(d) 4) 9% (d)

India ranks third in the world after the USA and China in coal production,

Arthracite coal is the hardest and ranks highest among the coals with carbon content of
90 percent.

Bituminous coal has carbon content between 50 percent to 80 percent,

Lignite has about 40 percent carbon.

State whether

(a) India does not have extensive deposits of the highest grade coal.
(b} India is a major producer of the highest grade coal.

(c) Most of the coal India produces is with carbon content 50 to 80%.
(d) Large chunk of India coal deposits are in the form of lignite.
Which one of the above four statements is correct ?

(1) Only (9 (2) (a)and (0

(3) (a)and () (4) Only (@

59, WSGIHT FI0W Yd G2 IO FURET THVIEE STEF 8 ?

(1) wH @) = (3) == (4) =@
Which of the following crops helps in soil and moisture conservation ?
(1) Maize (2) Sorghum (3) Pearlmillet (4) Cow pea

HEAT HAHI AN /SPACE FOR ROUGH WORK
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60. T ¥ BRI HERTETET SV FIUN S BT g 7

(a) FNET b) TR © fmd (@) wweEE
T

(1) (a) B (2) (a) ST (b) f3) (b) 31 () @ (o) st (d)
‘Gopl, folk dance belongs to which part of Maharashtra ?

(@) Kokan (b) Khandesh () Vidharbh (d) Marathwada
Options :

(1) (a)only (2) (a) and (b) () (b) and (¢} (4) () and (d)

61. Ui INETEATET TV TSoTd HIOE YT HIE U ORI Segaaardt (@i gEiE) e
It @l o W o U,

(1) vEEEE! I ) 9y ¥t
(3) HIEATY Tt (4) ol® wd

A water harvesting system specifically designed to provide life saving irrigation to crops
during the period of moisture stress is termed as .

{1} Rainfed farming {2) Runoff farming
(3) Dryland farming (4) All the above
62. Tafidt gva Fam woamame 3 fsfkdt e faaid g % 3TTesTe fafidiee @
Higw T,
(1) 60 (2) 90 (3) 45 (4) 30
Three dimensional views of the terrain can be created by placing two successive
photographs under a stereoscope, with approximately % overlap.
1) 60 2 90 3y 45 4y 30

HSAT FWETE I /SPACE FOR ROUGH WORK
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63.

26 A

HATFR Ta=A1 91 e Taorha el 9 &9 99 UhHd o, 2 dfF 3291 FI9R 7

(1) FooRd J=a@ior USRS dIeM Mefan, 7o Tt BT IH Gurv, 9 ="
Trrefera,

2) IS YR FNYHERE A s, vue Ae Socl TR urd, 3 TR e,
(3) ITCTHARIA WEER dre fHelaw, STeaare ana giow T YURDl 9 WY e,
() foorre Tea@ET dem fref, sme nde I guRe 3 @ae e,

The Khilafat Committee and Congress agreed upon triple purpose of Non - Cooperation.
Which were the three purposes ?

(1) Satisfactory solution of the khilafat question, redressal of the Punjab wrongs and

attainment of Swaraj.

(2) Satisfactory solution of Bengal question, redressal of the Punjab wrongs and
attainment of Swaraj.

{3) Satisfactory solution of the minority question, redressal of the Jalianwala Baug
wrongs and attainment of Swaraj.

(4) Satisfactory solution of khilafat movement, redressal of the Bengal question and
attainment of Swaraj.

64.

fyeni= 4ITg IGRAGT TRT (SIM) ARG, g9 : 9ol ;g e _ YW S
(1) 20:30:50 (2) 30:30:40 (3) 25:30:45 (4y 25:25:50

For optimum plant growth loam soil should have, air : water : solids in __
proportion.

(1) 20:30:50 () 30:30:40 (3) 25:30:45 ) 25:25:50

65.

WIS 7E- ST UFheuHE YT fod! T SisvaeSt yeaten o 3R ?

(1) 10 (2) 25 (3) 37 (4) 47
Under Indian river - linking project, how many rivers are proposed to be linked ?
(1 10 (2) 25 (3) 37 () 47

66. VT ATEETH TGS FHA Laas fafediaos] HEar aE Hot ?

(1) SRA TS TIEET (2) OFTR TS A
(3) A ARG URE (4) DREA LS UG
Under whose guidance did Indian Army successfully execute annexation of Hyderabad ?

(1} Lft. General Rajendra Singh (2) Lft. General Nanda
(3) Lft. General Thorat (4) Lft. General Thapa Singh

FTAT IR AFT /SPACE FOR ROUGH WORK
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67. Uy ATRMEE) RERISmeE Woed®] v HIsaasn SUAN Fel 1S 7

(@) TE T (by =

(©) oI d) oS e

(1) (a) 3 (b) T (2)  (b) ST (c) HoH

(@) (a) 3 (d) T (@) wewd

Which of the following media were used for paintings in Maharashtra during the Peshwa

period ?

(a) Cloth board (b) Glass

(c} Bhurgpatra (Palm leaves) (d) Wooden board

{1) {a) and (b) only (2) (b)and (c) only

(3) (@) and {d) only {4) Al the above

68. TS ST UVATGS VaIRiG! d1¢ WeauamEret Hiviedl TRdiEn Hew YHOnd JT9Y Fad
Iq 7
(1) R qFh 2 R (3) HERE (4) Hsfaaw

Which compound is being used extensively in treatment of reservoir water to control
growth of algae ?

(1) Copper sulphate (2) Lead (3) Cobalt (4) Cadmium

69. A TEN YSURIE AR el Feres RYa 9 A9V (ITTHES! gH ) B 2
(1) I THOMA eFaAgsar=n f=a
(2) i AERIET o TR
(3) STHIT WA TR
(4) VT ITWEARE TS U gURL i 9
Irrigated soils in low rainfall region develop soil salinity and alkalinity due to
{1) Inadequate leaching of nutrients
(2)  Excess application of crop residues

(3) Imbalance in use of fertilizers

{4) Accumulation of salts in surface layer due to evaporation of water.

HoAT HHEES S0 /SPACE FOR ROUGH WORK
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70. GOOE! RV el TG I EagiTa SnRd ?

(1) =gEE-aned S, (2) woHE-qaE

3) wnEE-Efwa (4) HE-TREER

Which of the following are the noisiest cities in the world ?
(1} Newyork - Washington D.C. (2) Kolkata - Mumbai
{3) Shanghai - Tokyo (4) Karachi - Islamabad

71. 2001 - 2011 91 FEEHT HERERIS JHEEN AGHS 12 700 98
(a) o (b) T= (c) TeNiTd (d) Taygt
(1) (), (b) 3N (d) (2) (o) W0 (d) 3) () )M @) (@) ()

During 2001 - 2011 in Maharashtra negative growth of population is seen in the
districts :

(a) Thane (b) Mumbai {c) Ratnagiri (d} Sindhudurg
(1) fa) (Mand(d) (2) () and(d) @ () (@and(d) (4) (@) ()and(d)

72, T TEEEt IR A SUGRIA SUaEIe! ST WY 71 S HHE.

(1) 45-6 2y 6-7 3 75-85 (4) 7.0-85
Maximum phosphate availability to plants is obtained when the soil pH is in the range
of .

(1) 45-6 ) 6-7 (3) 7.5-85 4) 7.0-85

73. W% YR A IGTIA 71 TSARGS ST ARAS SN WY W FO NS, Al gaia

WW%%WW:
(1) TIOTE, |, 2) WE, I™, qGE
(3) T, MM, WigY () Tiroma, g, Sidet

Noise level of vehicles was recorded in ten heavy traffic locations in Mumbai City and
suburbans. The worst affected areas were :

(1) Goregaon, Sion, Malad {2) Fort, Dadar, Mulund
(3) Kurla, Matunga, Bhandup (4) Girgaon, Bandra, Borivli

FoE] RIS PN /SPACE FOR ROUGH WORK

D S STV IO 5 o A A NN TR NI v i - -~ - e e e e ot .
i i o AR RO . Gl ra f o LTI )



A 29 SO2

74. ] HIEATH iQUAHE] sedfas dTae! (Anthrax bacilli) ¥ I 3Neesdrd ?

(1) W SREF (2) HTS HREF

(3) @d HR@H (4) RS FHIGUIET FREHA
Which industrial waste contains the pathogenic bacteria, Anthrax bacilli ?
(1) Alcohol distillary (2) Textile industry

(3) Fertilizer factory (4) Tannery

75. Tere faurien fa=m &
(a) TemeTr=m T T 9% 3 ferei=n fadevar v wEEM.
(b) eV femTerr= Ten Fra awed S| § R feorht s,
(c) TTEETGAR fEreRTd WIgR Ty U,

(d)y e Prra 9 et Sgve.

(1) =R e =0a W (a) 9 (o) & (b) 7 (d) S FTFH FROME T
(2) (b) FHI F (a) T AT FRA AL,

(3) (d) TR F (c) T AT FRO TME.

) (b)) (d) [F T A () T (c) T TR IFTFT FIO A4
Consider the following statements :

(a) The Himalayan rivers are formed by melting snow and glaciers.
(b) Therefore the Himalayan rivers flow continuously causing floods.
{(c) During monsoons Himalayas receive very heavy rainfall.

{(d) The rivers swell causing frequent floods.

Now state whether

(1)  All the four statements are correct though (a) and (c} are not necessarily the causative
factors of (b) and (d} respectively.

(2) (b} is correct and (a) is the correct causative factor there of
(3) (d) is correct and (c} is the correct causative factor there of

(4) (b) and (d) both are correct and (a) and (c) are the correct causative factors there of
respectively.

HoAl HEER 9T /SPACE FOR ROUGH WORK
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76,

@

30 A

(X) Fen - =N ToUTEET S AR IR AT EETA R TS W SO

oA =1 JRHAEE 3casiid 2o 3+ & < ol oedi=a eI A ues.

(Y) TOT - TSR AOWA SR SIS o80T QYRR Scfsd 2o SO T ST

(1) () (Y) ISR R

(2) 00 TR ST, (Y) 7 (X) < T @t

(3)  (X) TF AR (Y) TR A2

(4)  (X)d (Y) < I

(X) Statement - Solar energy radiated from the surface of the sun is transmitted in the
form of short wave radiation but the energy radiated by the earth’s
surface is transmitted in the form of long wave radiation.

(Y) Reason - If the temperature of the substance is very high then the energy radiated
by this substance is very high which is transmitted in the form of short
wave radiation.

(1) (X) and (Y) are correct

(2)  (X) is correct, (Y) is not the correct explanation for (X)

(3) (X) is not correct (Y) is correct

(X) and (Y) both are not correct

77.

TF 2001 =1 TOHTER HERRES AR 9 ST 41 S Bl WSz Tev Spaed
yur Tl TR ?

(1) 5% Y& S (2) 33% el e

(3) 10% U= S| (4) 15% Qe &

What percentage of population of Nagpur and Thane, the two cities of Maharashtra as
per 2001 census had people living in slums ?

{1) more than 5% {2} more than 33%
(3) more than 10% (4) more than 15%
78, WY ITY, X IreA1 ‘T I YWOATH' W YUK THOATA qUA _ W FO AR,
(1) ¥ FogEl <) 701 OB (2) 98 HUARAvd I
(3) e FOAH FHAFAA (4) TE FYUIN FAF
W.W. Hunter's book, ‘The Indian Mussalmans’ described the Muslims as * ",
(1) Strong willed to revolt (2) Brave enough to revoit
(3} Too weak to rebel (4) Too weak to organize an association

HoT RIVEIST AT /SPACE FOR ROUGH WORK
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79. ’ TS ST BT SR, WM TR SR, SRTarEt St oM, St
TS ST | WOl HiS! e 3R
Wi 28 VT S¥ered sied 38 7
(1) ST (2) ¥Ra
@) = (4) ¥

" " is the cradle of the human race, the birthplace of human speech, the mother
of history, the grandmother of legend and the great grandmother of tradition.”

Which country was Mark Twain speaking of ?

(1) United States of America (2) India ~

(3) England (4) Greece

80. THIAT 1922 =91 AN HEAHER MU STHEHR 9598 T8FS Fol. T g au e
S o+t F?
(1) de Ao 5 (2) o Baud 04
(3) [WYEE 99 (4) TER TORRE 8T
Mahatma Gandhi suspended the non co - operation movement in February 1922 after the
incident of Chouri - choura. Who described it as a National Calamity ?
(1) Pandit Motilal Nehru (2) Lala Lajpat Rai
(3) Subhash Chandra Bose (4) Pandit Jawaharlal Nehru

81. YA Jeidadd YarE 9 9 feriaonz faene Wi, 74 s fa=m yorda 7 wha 59
S e R -
(1) feaF fa= ol TR e 79 el &% w6 Tl
2) Toum faeren TEye Ve a1g wwRd Aw. '
3) fF= den s 7g yewdm.
(@) ThH TR AR

Algae, a welcome ingredient with surface irrigation due to nitrogen fixation, is not tolerated
in drip irrigation system because :

(1) algae cannot fix nitrogen when drip irrigation is adopted
{2) algae cannot grow in drip pipe lines

(3) dogging of emitters may occur

(4) none of the above

HeAT HMTETST AT /SPACE FOR ROUGH WORK
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82, T SiiEATE FEUT FAYAN HIME TeAH ATSE 0 ?
(1) femee w1 2 fawr
(3) TR (4) wEAWRY
Which was the first state to implement the ‘Antyodaya Concept’ of Mahatma Gandhi ?
(1) Himachal Pradesh (2) Bihar
(3) Rajasthan (4) Madhya pradesh

83. 'fafew Siwien TS STTHRIV B T FITTHIV] Tehl ' STF HIvT TGOS ?

1) =T 2) fawpmet faveeER

(3) .. ST (4) T Sl B

Who said ‘Imitate the British in their good deeds but dont follow them blindly” ?
(1} Justice Ranade (2) Vishnushastri Chiplunkar

(3} G.G. Agarkar (4) Mahatma Jyotiba Fuley

84, UETEHL 4y T AT YRAE T F6 g Wioie 9N S F0 i g ?

(a) T wEREtaR sefean Suve TEiEET U SvE g e o |l e ek
D,

(b) SRS RIS W YAWE FRAFEHE AT A TS T G B Al
AR e HIegT ST F,

1) 3@ (b) (2) %S (a)

(3) @) (b) ¥ T T @ (@3 () I

Which of the two statements about Savarkar Bandhus who had founded Abhinav Bharat

is not correct ?

(a) Vinayak Savarkar was deeply impressed by Italian patriot Mazzini, whose biography
he transiated.

(b} Babarao Savarkar too was sent to Andamans for his seditious activities, the
punishment avenged by Kanhere by shooting down Jackson.

(1} Only (b) (2) Only (a}
(3) Neither (a) nor (b) (4) Both (a) and (b)

85. WOOTR! HIV TRATS ARt Tl 5o Wt Sjgs watd 31 o ?
(1) @™ (2) ifFEA (3) =M &W (@) ATm

Which of the following neighbouring countries of India has the longest boundary in
common with India ?

(1) Bhutan (2) Pakistan (3) Bangladesh (4) Nepal

FHoAl RIS A /SPACE FOR ROUGH WORK
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86. YLAISAT TS TS LS9 WISTSUH! HIvA faur o o7 7
(1) Ye=n S M e See IR,
(2) YT ST M R S0 AR,
(3) g S T R SO AR,
(4) g AT M FI WSHFURE T L.
Which of the following statements is correct about the structure of core of interior of the
earth 7
{1} The core of interior of the earth is made up of sial.
{2) The core of interior of the earth is made up of sima.
(3) The core of interior of the earth is made up of nife.
(4) The core of interior of the earth is made up of hard rocks.

87. FIUr WA Sriw g oY @ v e fegEars.

(1) THEE fag (2) €l TEuEE

(3) o.ocaT st (4) TAE TS

Which social reformer wrote under then pen name ‘Hindu lady” ?
(1) Tarabai Shinde {2) Dr. Rakhmabai

(3} Dr. Anandibai Joshi (4) Ramabai Ranade

88. D T T 1 SN HF NUTAHIET FIEE ?

(1) SgHI=a grear 3™ 2 & sm

(3) e I (4) =@ THEI A=
What does Dermal Nitrate test detect 7

{1y Gunpowder residue {2) Seminal stain

(3) Blood stain (4) None of the above

89. U= fHTHl YR e WSS RV WY TR FoS 8 ?
(1) MHARR (2) FHIR
(3) “AEgH (4) TetE! &S TR

Which of the following drainage patterns has been formed by rivers flowing in western
coastal plains ?

(1) Rectangular (2) Tarallel
(3) Trellies (4) None of the above

AT HIFTHIST AR /SPACE FOR ROUGH WORK
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90, TR o0 (FTOR FNS TE T Iqa%] YRS, AUSTIN FRIGET wivd 9 sifus
SIRTT i ?

(1) TS (2) TS

(3) TRY (4) TIRIH 7 W=

Which style of temples was the most popular during the Maratha period ?
(1) Rajasthani (2} Maratha

(3) Hemadpant (4) Rajasthani and Maratha

91. Yeo 3 faumrEn faur s
(a) AP forrge SR TR T THS 2011 YA TS oA S,
() ¥ forme e Ten AR s s F7 o, ' afte T e,

ST WM Y
(1)  (a) TSR (b) T ) (b) TR T (a) T
(3) TE (a) A (b) TR (4) 7 {a) T  (b)

Consider the following two statements :

(a) » Neyveli Lignite Corporation has been conferred with NAVRATNA status since April
2011.

(b) NLC presently operates four thermal power stations, all in Tamil Nadu.
Now state whether

(1} (a) is right but (b) is not (2) (b) is right but (a) is not

(3} both (a} and (b) are right {4) neither (a) nor (b} is right

92, T INNSHUAl foEder HIvE 1Y = G wiag e ?

(1) R S (2) fadg-ffe

(@) TEE B A2 (4) T S e T
Which book of Dr. Ambedkar was published posthumously ?

(1) Castes in India (2) Annihilation of caste

(3) Who were Shudras ? (4) Budha and his Dhamma

FHeeaT HIHEE AT /SPACE FOR ROUGH WORK
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93. X WfHHIAEA A1gA FVIRAT YTUgT=AT YA A1 g Hiedld Wargrd! SiH-Tet 49 FHvarar el
& =gl fhdt RN RS ?
(1) UTHUL (2) 7o (3) <UE (4) 3ABIE
If the velocity of a stream is doubled then how many times the erosive power of the stream
will increase than its original velocity ?
(1} onetime (2) two times (3) four times (4) eight times
94. A= 9 TEUR -
(1) W e (2) WA o
@) wat vt = (4) ARt SRRt AR
Soil texture is :
(1) arrangement of soil minerals (2) arrangement of soil particles
(3) arrangement of organic matter (4} none of the given
95. Fuiilo WA oW feararan Fremad! faed 2
1) 13 7w 13 fufre () 127w 13 fafee
(3) 12 am 59 fafe (4) 14 9
What is the time period of the largest day in any year ?
(1) 13 Hrs. 13 Minutes (2) 12 Hrs. 13 Minutes
(3) 12 Hrs. 59 Minutes (4) 14 Hus.
96. faam (A) : 1893 Wl ' wewWed STio-aifidies febu ardndtuw Wit o Efeardt s

FIOAR 3T

FAUI(R) :  GESHHM TH ANNIE fod Savaris d WRad fazim=t a@ AsEd
LTI,

(1) (A) A0 (R) T TR IRA. 2) (A)THMN AE, (R) TH IR,

() (A) TR I, (R) THiY AR @) (A) THR HR, (R) TS 3T,

Assertion (A) : Muhammadan Anglo - Oriental Defence Association for Upper India
was established in 1893.

Reason  (R) : To keep the Muslims away from political agitation and to strengthen the
British rule in India.

(1) (A) and (R), both are true (2) (A} is false, (R) is false

(3) (A)is true, (R) is false 4) (A)is false, (R) is true

FHe FHTATATS SO /SPACE FOR ROUGH WORK
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97. FETES deuld wde faum faamm =0
(a) TERN RIS 80% A FH Heard dUie T WGl YU 9% BRO.
(b) IEWET FOl FH HeA TN WA A6 w5
(c) SOHHI-THD FAGTIRIYU 7 UGl oiat 3 9 4 SFUHeaTdd qaifed T84,
(d) I Al Tl 2 - 8 IAHEATId FET
et woE I faum W e ?
1 @ o 2 ®© G (© @ 4 (@ (D
Consider the following statements concerning food chains :
(@) Removal of 80% tigers from an area would result in increased growth of vegetation.
(b) Removal of carnivores would result in an increased population of deer.
{(c) The length of food chain is generally limited to 3 - 4 trophic levels due to energy loss.

(d) The length of food chains may vary between 2 to 8 trophic levels.

Which two of the above statements are correct ?

1) (@) ®) 2y () () @) © @ #) (@ (@

98. WOT FIN faum wEra TR ?
(1) afv=m o i e ST S AfET TYe 9 S WRIE | waia IS0 Aied SHee .
(2) =3 qF il iR st areTdidEe Mg 2,

(@) e wd siiw sfean, gorfome wd offw sfem 3 yiwme w4 sifw sfean = yees
FOF AT IR,

(4) T T T

Which of the following statements is incorrect ?

(1) In western and southern regions the hottest month is April for northern regions
May is the hottest month.

(2) Red Data Book gives an inventory of endangered plants.

(3) The headquarters of the Botanical Survey of India, the Zoological Survey of India
and the Geological Survey of India are all located in Kolkata.

(4) None of the above.

Heed] SIHMEIS FRT /SPACE FOR ROUGH WORK
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99. WWWWWWWWWEEMW e T
YEIF die FIVET T qEiad oY ?

(1) TIoTE, Feqvaa Fa, faen (2% fFar org 79 897 7 w0, fig-gediw wigvm
s feaaienfiar THr.

(2) TESd, ey v, fraum, fEg- e WewE i feriesit gam,

(3) gawarn, TAimGS faw, sregvaar fanw, fraae anfn fig-geem S,

@) o faeon, AR, sreqvaa Fanw, firaam anft foaieiar aommm

While explaining his programme for strengthening India, Gandhi used to point to the five
fingers of his hand. According to him what did each of the finger indicate ?

(1) Spinning, removal of untouchability, sobriety {Non - consumption of alcohol or
opium) Hindu - Muslim amity and equality of women.

(2) Cleanliness, removal of untouchability, sobriety, Hindu - Muslim amity and equality
for women.

(3) Spinning, education for all, removal of untouchability, sobriety and Hindu - Muslim
amity.

(4) Basic education, agriculture, removal of untouchability, sobriety and equality for
women,

100. FR Y@ IET Y@ LW B,
(a) 3EH W 9
(by TERE =T ISR R
(c) Sy W
(d) WY "
(1) & () (2) &= ()
() (a) s (b) @ (@), ®), () =T (d)
The Kyoto protocol was for the purpose of
{a) Ozone layer depletion
(b) Reduction in emission of greenhouse gases
() Decline of Oxygen
(d) Depletion in chlorine
(1) Only () (2)  Only (b)
(3) (a) and (b) (4)  (a), (b), (c) and (d)

el HIEE SR /SPACE FOR ROUGH WORK
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101. W JEHiHOTeEG ®IVRA] S AfF aET S e 7

(@) T 1856 weR fawen Tifar %% v

(b) T 1872 5 fasiy ferare arfufam AP fo=mg AFME=.

(c) ¥ 1938 wel feg feaar faviaa €% viva @ dieslt ow g,

(d) T 1946 72 g feran woakat oo T,

(1) (o) S (b) (2)  (c) 3T (d) (3)  (a) 3N (c) (4)  (b) 3T (d)
Which two statements regarding legal provisions regarding womens liberation are
incorrect ?

(a) In 1856 widows were allowed to remarry.

(b) In 1872 special marriage act recognised Civil marriage.

() In 1938 Hindu women could ask for separation and alimony.

{d) In 1946 Hindu women got right to property.

1) @and(®) () ©@andd) () @and()  (4) (b)and (d)

102. SITGZ FMEUE YT A= qamas’ qagen 9ha Twenan gF %8 18 J9 78w S
&l faemeai yfomr s oG o4 &

(1) i fErYR JRadie.

(2) 1 forien fagomeEt 7 fagar=n Eidarme =M Fw@e.
(3) © SuNHID §d A JuifaEs FTEdw.

(4) T AEEE TN FUE TR TR

Under the leadership of Barrister Keshavrao Deshpande “Sadhakashram’ was opened at
Andheri, Mumbai wherein the students whoe took admission had to pledge that :

(1} They would promote scientific thinking.

(2) They would work for womens education and widow remarriage.
(3) They would fight against all social evils.

(4) They would never enter government service.

103. foar=n wEmdte veREE ¥ frevsEt yEm
(1) 1.0 ¥.¥igm 2) <o0sWduwn. (3) >12vWdun (4) 1.5 9dEm.
Harmless concentration of flouride in drinking water is

(1) 1.0 ppm (2) < 0.8 ppm (3) >12ppm (4) 1.5 ppm

oAl IS W /SPACE FOR ROUGH WORK
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104, YRAK FrRraRs, FONETe d aHamers 6T 57%, 4% o 22% ST WA iEt Ol 11%, 26%

T 31% AR, TES ST BV =R T TR 9,

(a) 6, 56,14 by 12,2, 67 (c) 10, 34, 14 (d) 29,46, 10
(1) I, SIH, <], o (2) H, I, SArefe, S
(3) SAgfedl, A, 9T, 6 (4) =T, AT, T, SUH

Percentage of area under crops, parture and forest in India respectively are 57, 4 and 22
where as the World averages are 11, 26 and 31. The statistics for four countries is given
below.

(a) 6,56 14 (b) 12, 2, 67 (c) 10,34, 14 (d) 29, 46, 10
Name the countries (a), (b), (¢} and (d}.

(1) UK, Japan, China, Australia. (2} Japan, UK, Australia, China

(3) Australia, Japan, China, UK (4) China, Australia, UK, Japan

105.

e o,
RG] UTTATEIS TEHIT AT WERTETES Wi
(a) TS @ 20%
(b) SwEr™ (i) 21%
() TTEsl (iii) 9%
(d) wiFRE {iv) 40%
(e) AR @ 10%

@ ® (@ (¢
O @ @) O v W)
2 @) @ @) @) )
@) v @ @) @ O
@ G (v) (v g 0

Match the pairs :

Minerals Out of total reserves in India, reserves in Maharashtra
(a) Manganese i 20%
(b) Iron ore (ii) 21%
(¢) Limestone (iiiy 9%
(d) Bauxite {iv) 40%
(e) Chromite v} 10%

@ ® © @ (e
O @ @ 0 @
@ @ 6 @ @
@ ) @ @ 6 o
@ ) @ @ @ o

HoAl HBIUTETS SN /SPACE FOR ROUGH WORK
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106. (a) TICHMY HETHEA ToehvT AT TaT TRa FeFT=n IR ST
(b) ToFomwT SvgEwEA AEIYan SIRA Ui S U YR
qite ey Tdots! Hiom @ TS R !
(1) (a) 3nf (b) It et SO AR. (2)  (2) TR TN (b) TF IR,
@) (a) TH TN (b) T 31 @) T (a) 3 (b) TR ARA
(a) Sandy soils have more porosity than clayey soils.
(b) Clayey soils hold more water than sandy soils.
Which option is correct regarding above two statements ?
(1) Neither (a) nor (b) is true (2) (a) is true but {b} is false
(3) (a) is false but (b) is true (4) Both (a) and (b) are true

107. WOOTEH! SV TGS faetwi Yot war fasfas Ft?

1) () TwEEaE (i) eI 9 (i) O IR
@ () TIRFTR (i) B TN (i) TSH T
(3) (i) FHEEUEGE (i) HoE FR (i) | T
@ @ AW (i) T (i) TR FW

Which of the following pacts made Peshwa power weak by the British ?
(1) (1) Vasai treaty (i) Pandharpur treaty (iii) Pune pact

(2} () Nagpurpact (i) Kolhapur pact (iif) Khadaki treaty
(3) (i) Kalyan treaty (i) Mumbai pact (ili}y Satara treaty
(4) (i) DPune pact (i) Satara treaty (iliy Nagpur pact

108, WRIGIH! HUQ FOH 1919 =0 WTHE YUR Fa FHifae F0aE S 8 7
(1) a1 S T HEER ®R giear’ a1 AfusrarEt (I FEE e
(2) o wagmmn AfYER F8e FEEM T

(3) WIE W TR fEqrem=n fsiigA qrarEt 5gg F9.

(4) e Ffas =N AR HEA 8 THA 4 FIUAR .

Which of the following articles was included in the 1919 Mont - Ford reforms act ?
(1) This act caused the appointment of ‘High Comussioner of India’.

{2} Women got the right of voting.

(3) Provision to give the salary of Secretary of State for India from the treasury of
Hindusthan.

(4) Reduction of the Indian Council members from 8 to 4.

HIEE WRWRTS ST /SPACE FOR ROUGH WORK
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109. TRt W W ko faRet Fon favm gwre o ?
(1 o s TR dfean Surren AT SvErE e 6.
(2) YA YA B HUAEIE! Foedl TAHH HEA FS.
(3) W RIS TR S-S TS
(4) o fom T et 95 T FA

Which of the following statements in connection with the Subsidiary Alliance System is

incorrect ?

(1) It tried to bring Indian kings under the control of the English East India Company.

(2) It was helpful in the expansion of the Company’s territories.

(3) The second Anglo - Maratha war took place due to the Subsidiary Alliance.

(4) Lord Rippon had started the Subsidiary Alliance system.

110, W=281 7% f7ee1 foHa! ™ F19 € SAHvarE] TEEar 3Ed ?
1 &R 2) w1 @ =& 4)
When a rock looks blue in colour what is it likely to contain ?

(1) Diamonds (2 Gold (3) Silver 4)

Copper

111. T WA STl IUgEE 3 10 feaw steq, @ :

(1) wH FHromE gare e (2) WHR FOQHE A AT

(3) T S TAHA S (4) =ts
When validity of weather forecast ranges from 3 to 10 days, it is
(1) Short Range Forecast (2) Medium Range Forecast

(3) Long Range Forecast (4) All the above

THEAT HATATEH AT /SPACE FOR ROUGH WORK
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112, oAt Fag fafay TS a0 sR. FewiemEa g fq9m 999 s ?
(1) T o o ™ A G de . o W tER U9 €6 BUE TiE HV 99X g,
TS AT THHETE TR AR A FA ($FAW) TSF .
(2) IO A U UG OIS A R RS TR ST,
(3) o 5o M (RfeRel) TR T AR,
(4) TR TUGGA (AEAMES) TTSHI aTEOT TR
The earths crust is made up of various types of rocks. Which statement about the rocks

given below is incorrect ?

(1) Sometimes the molten magma cools down deep inside the earth’s crust. Since they
cool down slowly they form fine grains. Granite is an example. They are igneous
rocks.

(2) Grinding stones used to prepare paste/powder of spices and grains are made of
granite.

(3) The Red Fort is made of sedimentary rocks.
{4) The Taj Mahal is made of metamorphic rocks.

113. TEots FIE FROTEE 1899 7 i A9 it T’ = s Foh A 2
(1) TI9Et 3Ie9a T HIOATIST (2) TS S WeR SIS
(3) uF I TSR FIOAERN (4) FDHT I WO FIOATHST
In 1899, ‘Mitra Mela” was established in Nastk for which one of the following purposes ?

(1) To celebrate ‘Ganapati Uttsav”  (2) To celebrate ‘Shivaji Jayanti’
{3) To celebrate ‘Trimbak Uttsav’ (4) To celebrate “Sapta Shringi Uttsav’

114, Efon Swadiard YEe 39 fagmks F19 alat 30 ?
(a) I STen TSR AT rrer 49 Zfemare! ST S TR’ WA 1 hel.
(b) e S R A fei e firoR RO S Tew g 9.
(1) 9B (a) TG (b) T (2) 9 (b) WY (a) TR
(3) (a)@ (b) IF FoRE T 4) @30T
Which of the following two statements about the Dalit Movement is correct ?

(a) Gopal Baba Walangkar started ‘Anarya Dosh Parihar Samaj’ at Dapoli for the Dalits.
{b} Shivram Janaba Kamble started Chokhamela Mandal for Dalits so that they get

education.
(1) Only (a) not (b) {2) Only (b) and not {a)
(3) Neither {(a) nor (b} (4) Both (a) and (b)

ol TS AR /SPACE FOR ROUGH WORK
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115. GR@YS! 01 WA AR ‘St ar’ AT Aara HafyS S 2

(1) WA TEe: ar (2) T AR

(3) TEdE/E AR (4) TIIR

Which of the following local winds are also known as ‘Doctor winds’ ?

{1} Land and sea breezes (2) Pre - mansoon winds

(3) Mountain winds (4) Valley winds

116, FIvit o sfufamer @ =R gamsia faeds sto =vA fay dor?

(1) % I TS @) e g ugE

(3) TR WgH TEEH (4) mEr S Fidet

Who opposed the licence bill for it would affect trade and business adversely ?
(1) Bhau Daji Lad (2 Gopal Hari Deshmukh

(3) Dadoba Pandurang Tarkhadkar (4) Acharya Balshastri Jambhekar

117, @R T GO (ST Isd AFERNE) & T ®@R HR Rl E dMEa 9 weeEs
T AR, o I #1960 THR 9 w0, v {09 w6 <9 TReut §F o TR TRt
(FAiThd Yhed ad®) § Fehed i,

(a) THeY T Ufvadd 2T (b) WHeY SHT THA AR,

(1) (a) IR G (b) ST (2)  (b) FR T () ST

3 T (@) 3 (b) A @) T (a) R T (b)

The Border Roads Organisation is a road construction executive force, integral to and in
support of the Army.

It started operations in May 1960.

It started with two projects Project Tusker (renamed as project Vartak)} and Project

Beacon :

(a) Project Vartak is in the West. (b) Project Beacon is in the East
(1) (a)is right (b) is not (2) (b} is right {a) is not

(3) Both (a) and (b) are right (4) Neither {a) nor (b} is right

FHoAT WS WRT /SPACE FOR ROUGH WORK
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118. {5 wrion fe<t Yl fEgeem momd o s gufas ?

(1) T e (2} TR TE A
(3) f= TR (4) fa3. g
Who suggested that Hindi should be instead addressed as Hindustani ?
(1) Golawalkar Guruji (2} Rajaram Shastri Bhagwat
(3) V.K. Rajwade (4) V.D. Savarkar
119. SUSH AR 1840 T ‘S A% T T’ BH SV I9F Fo) & ?
(1) TSI B 1 (2) SIBYIEET ST
(3) < vigin aEewt (@) WS HEH
Who was appointed by the British Government as a ‘Justice of the peace’ in the vear
1840 ?
(1) Rajaram Mohan Roy (2) Balshastri Jambhekar
(3) Dadoba Pandurang Tarkhadkar (4) Bhau Mahajan
120. 99 TS 4F TH TS0 MEEATH §9 I TS IR WISStd B € § Fn i

(a) HUS! WieE wHeA (b) WY HBRTY uiiwe
(c) HIH WERTSZ Wkt (d) < () v
(e) WA wikt () T R

(g) T FHERITEEE F STt s

(1) (a), (b, () Fearem A AW (d), (e), (), (g) Fortierm
(2} (a), (b}, (d) T SIS A (c), (e), (f), (g) T
(3)  (a), {b), (c), (e) TS ALY AW (d), (f), (g) FHRIE
(4)  fa), (b), (c), () Tesr=a1 AR <MY (d), (e), (g) Tordrerm

All Marathi regions should form a state ! From amongst the following who were [or and
who were against the ideology ?

{a) Marathi Sahitya Sammelan (b) Sanyukta Maharashtra [*arishad
(c) Sanyukta Maharashtra Samiti (d) Darr Commission
{e) J.V.P. Committee (fy Nagpur pact

{g) Faizal Ali commission for Reconstruction of states
(1) For (a), (), (¢) against (d), (¢), () (2)
(2)  For (a), (b), (d) against (0}, (¢), (6, (@)
(3) For (a), (b), {c), (¢} against (d), (f), (g)
(4) For (a), (b), (c), (f) against (d), (e), (g)

HoeAT HIAHIS M /SPACE FOR ROUGH WORK
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121. AT REFAISY IS0 IR TS BRI ~
(1) S9IER &= T T3 9RO TRt IW e,

(2)  YBTIHT BIVH IV IeH.

(3) s Fer 3o T WS,

{4) TTETH FETSRISIFIEES o TV FIAR.

The Atmosphere around the Earth is warm because ;

(1} warm air cannot escape because of Green House Eifect.
(2) Terrestrial radiation.

(3) Fossil fuels release heat.

{4) Plants absorb CO,.

122, TRRIRHIS GEGTE! SIvE Tefagd THe8 YfHF TERrgs vyl /A SisEel I ?
(1) e (2) TRl @) s (4) e
Which of the following hydel power projects in Maharashira is known as Fortune of
Modern Maharashtra ?

(1) Koyna (2) Radhanagri (3) Ujani (4) Bhandardara

123. 28 e 1949 TS FYa werrgrsn ffifd fawei=n wwam 4o RerRTEied SVt aiee ?
(1) e o onftr SIRE. WR (2) =R 3T S AHL TR
(3) FRZ. veR o7y faliw § (4) SEL S A0 HyETd HE
On 28t November 1949, who presented a proposal in the Bombay Municipal Corporation
for creating Samyukta Maharashtra ?

(1) Acharya Atre and R.D. Bhandare (2) Acharya Atre and S.K. Patil
(3) R.D. Bhandare and Shirish Pai (4) R.DD. Bhandare and Keshavrao Jedhe
124. S0 Feddie esias w0d 319 faari=n =i T (¢ G0 ned. o U AR S

foamgEt o, ) Saa T A sttt
(1) T gare qeerd (2) 3T s
3) T fue (4) @ feTg

Following are the names of Revivalists. One of them was of different views. Spot the odd
man out :

(1) Swami Dayananda (2) Annie Besant

(3) VR Shinde (4) Swami Vivekananda

HoeaT SR WA /SPACE FOR ROUGH WORK
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46 A
‘7" s ol fafddeEt v vt e e
(a) <= @ HTEnE 99R g (b)  TE A wRIe 99N BN
() Terdenameuigz Rk (d) e due Fee 7@ 6.

(1) FH (a) (2)  (a) M (b) (3) () =T (d) {4) TFH ()
Which option is correct for the formation of a ‘u” - shaped valley ?

(a) Formed by river erosion (b) Formed by river deposition

{¢} Formed by glacier erosion (d) Fermed by glacier deposition

(1) Only () () @and(®) () G)and(d)  4) Only (o)

126.

teqEe T HOTHN YA, W qHEe Y, T 4 T w5 ?
(1) THFEE SR dide (2)  HIF AR TS
(3) THRH TEFE VIR (4) el HoRE TR

What is the original name of Swami Ramanand Teerth Hyderabad Mukti Sangram
leader ?

(1) Ramanand Venkatesh Teerthkar {2) Shrikrishna Bhagwanrao Ramanand

{3} Venkatesh Bhagwanrao Khedgikar (4) None of the above

127,

“ e YeUgry IR AT WEH SV FATYHTY HEEAE] e T, TTTHe! qIherE! gyl
FLTY et STavaRal A9 @ A B0 T T ?

(1) W e (2) R T
(3) FERIES WA (4) ard wwr

“Just as we do not need the services of a mediator to meet mother or to please father, we
do not require the services of a priest to pray God.” Which Samaj advocated this
principle ?

(1) Prarthana Samaj (2) Brahmo Samaj
(3) Satyashodhak Samaj {4) Arya Samaj

ol FIHTES WP /SPACE FOR ROUGH WORK
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128. Hadug Werry Tear i et Fivi w1E %o g ?

() N TR AT BV HIE I T o T

(b) ‘“wERIS qas faeuR TR Srda g 1 9 e whed T

(c) ' T FERTSER Wewrl QoI Tt o Fi faed e’

(p) VHFEE 9

(@ WFIES

(r) RS SER

1 @@ O« 2 @@ &) P

@) @ @) G © 0 @ (@ (g ®) @ © P

Who had said what before formation of the state of Maharashtra with Mumbai as its

capital ?

(@ “I will oppose the separation of Mumbai from Maharashtra up to my last breath”,

(b) "llzflzjlharashtra will not get Mumbai as long as the Sun and the Moon shine in the
sky”.

() “The citizens of Mumbai will not join Maharashtra till the congress is alive”.

(p) Shankar rao Dev

(@ SK. Patil

() Morarji Desai

1) @ P} ®) 0 © @ 2) (@ () &) (p) (@

3) @) b {9 © 4} @(q):®) ) P

FHES HIUTEIS, W /SPACE FOR ROUGH WORK
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129. RAA WAYATART & SATEAIARIET @0 106 9% [&d Yo/ THe (Fw fr) &3 o

T

(@) T HIE TR (b) TEE IE B

(c) =R (d) oigum | frEr s

a1 ¥R feor W o7

(p) 7 BvEE RS TaEeht 9 frmh s 1

(@ TG HwaE

() TS < & @i T JzEs T TR
(s) T T @ gl 3 JoEs 99 SR
- _

1) (p) 3 (g I vaia T RA.

(2} (p) TR AT (5) FRUHLT

(3) (q) T AR (r) FHOTHA

(@) (p) T (q) FE TR T

The four major coral reef areas identified for intensive conservation and management in

India are :
(a) Gulf of Mannar (b) Gulf of Kutch
(c}) Lakshadweep (d} Andaman and Nicobar islands

The emphasis is on :

(p}) preventive aspects through monitoring and surveillance
(qQ) restoration

(r} preventive work is costly and time consuming

{s) restoration work is costly and time consuming

Options :

(1} The options (p) and (q) both are right

(2) The option (p) is right for the reason (s)

(3) The option (qg) is right for the reason (1}

(4) Neither option (p} nor (q) is right
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130, FHIAT 7T T

(a) M TR BN efeg-aromE i wh-TERa a1 SR A S AR,

(b) e TEE W wiaHTE- AfSar o gRves STere a1 SR Wi T AR,

(c) ardt TN EiY Ao et ST HragST STt T IR,

(d) F0 TER G TY-AERa™ SR 0 wawH- it ST Imen TR AR,

1) T (a) 2) "= (d) (3) (a) 3 (b) @) (b) 31 o)

Find out incorrect option.

(a) Bhima river basin is in between Harishchandra - Balaghat and Shambhu - Mahadeo
hill ranges. '

(by Godavari river basin is in between Satmala- Ajintha and Harish Chandra - Balaghat
hill ranges.

{c) Tapi river basin is in between Satmala - Ajintha and Satpura hill ranges.

{d) Krishna river basin is in between Shambhu - Mahadeo and Satmala - Ajintha hill
ranges.

(1) Only () (2) Only (d) () @and(® (4 (b)and ()

131, TGOS HI0EI FHU GHid TG I HOEORE g ?

1) SEEEE (2) i S (@) i @)
Which of the following wastes is highly infectious ?
(1) Biomedical (2) Animal (3) Industrial (4) Domestic

132.

S g1 SEHERTG faia snavas A, SE @ garEt g /e ) 9 e i
JeATER W TR Y TR

IMFT S S qred HE WY TS,

Q) 3 @ SARFIR A1 WIS IR Tgaie! T Te.

(2) WATTReR TR 20 & 50 frii=n Tzam s,

(3) FATERR TR IS FammIe: Aew T/ aaRe foiv 813 ofigi o Jumvn st &,
(4) SAEZERESE RIS W=E 4 (WIOTHIE) 999 Y 8 99 &d 3.

Ozone layer is an absolute must in the atmosphere. Due to the presence of Ozone ultraviolet

rays and infra red rays from the sun cannot reach earth directly. What is not correct in

relation to Ozone present in the atmosphere ?

(1) Ozone lies in the stratosphere of the four layers of the atmosphere.

(2) Stratosphere lies at a height of 20 kms to 50 kmns from the earths surface.

{3) Ozone is depleted by the sulphur dioxide gas emitted by the aeroplanes moving
through the stratosphere.

(4) The ultraviolet rays cause skin cancer in human beings and also affect fish and
vegetables.
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133. [Eio faumiEn fa9r #4.
(a) 7Y = fgs waos g <ol
(b) fireh 9 W@ Swen E-afiwE s
(c) T ASHE TG § WU THIo YT IEA e 1w I,
(d) U I g e Eie 9 SR,
(¢) Y 9 ufyaw wEiE e To3IH gRE! AR
() A FHEo TR TE TREHIN WS AR
T FIOE faum SET Ry ?
(1) e (a) 2) ®I@D 3) = () @ ©@I0
Consider the following statements.
(a} Nathu La pass denotes Satluj valley.
{p) Mizo and Rkhine hills run east - west.
{c)  The little desert extends from the Luni between Jaisalmer and Jodhpur to the north
west.
(d) Cardamom hills are a continuation of the Eastern Ghats.
(e) The Eastern Ghats and the Western Ghats have about the same elevation,
{(f)  Eastern coastal area is narrower than the Western coastal strip.

Which of the above statements is/are correct ?
(1) Only (a) (2) (b)and (d) (3) Only (g 4 (e)and (f)

134. T fraws 69 2 J0R UOeE! ST HHEE IEET S ?
(1) 89T Fe= S WaE .
2) FraiEm Fwme 93899
(@)  HIE T e
@) o TweE e
What are the activities permissible in CRZ I ?
(1)  Buildings are permitted anywhere in the zone
" {2) Desalination plants

(3) Storage of any cargo
(4) None of the above

135, 1930 =N G SITea Foedl AEYAN Fdl AIgHE ShaTo TEoM L e Niss! ?
(1) et (2) Fowd (3) IORER (4) <=
At which conference of Muslim League Mohmad Igbal put forth an idea of separate Muslim

Nation in 1930 ?
(1) Delhi (2) Calcutta (3) Allahabad (4) Dhaka
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136. TEH 7 TSN THAM.
N (TIR), Mer (Afeieh) a wuaia (FERTES) oy @S FEEraRodd SIoe
GEH AN ?
(1) S 9 T GEF (2) e @ FUIART GEHId
(3) S & FUAHE WSHid (4) H9B I GESHIG
There are three types of rock formations :

igneous, sedimentary and metamorphic. In which rock formations are metallic minerals
generally found ?

{1) Igneous rocks and sedimentary rocks

(2) Sedimentary rocks and metamorphic rocks
(3) Igneous rocks and metamorphic rocks

{4) InIgneous rocks only

137, WYRUE; WA wiesgar fed o5 2

(1) 207 30% (2) 304 35% (3) 301 60% (4) 607 70%
What is the general range of soil porosity ?
(1) 20 to 30% (2) 30 to 35% (3) 30 to 60% ) 60 to 70%

138, e TR AHT S YaiFHomg Fo0 FH T3 IR,
(1) o afger=n fer gur somEasT Y wiger T 9F %@
(2) o e AR gfay [EraEs 98 TRE e F Fel
(3) T fauais IR w57 i o,
(4) T SAAFE FU T GE FO.
Pandita Ramabai’s contribution to womens liberation is noteworthy.
(1) She started Arya Mahila Samaj for womens reforms.
(2) She started Lady Dufferin Fund to provide medical facilities to women.
(3) She started Sharda Sadan for widows.

(4} She started Kripa Sadan for orphans.
Which one of the above statements is incorrect ?

139, TN HIVEE YFI fHase 83 F4t 9% ?

(1} W 9@ (2) ufEm v

(3) [ 9w (4) =fam wRa
Which region of the country has the least irrigated area ?

(1) Northern India (2) Woestern India
(3) Eastern India (4) Southern India
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140. ST HUS 1Y ?
(1) FHAH q B qH QUR A @ T3
(2) I 9 G nHio WA
(3) feaream vsum ww
(4) oY TRUIS TSN USHE
What are mango showers ?
(1) Pre - monsoon rainfall in Karnataka and Kerala
{2) Rainfall in June to September

(3} Rainfall during winters
{4) Rainfall caused by western disturbance

141. JENRE T8 YRAEIAT Hde s freas AR, wwda Tee fesiaeEt ade g faam

TH AR ?
(1) 27 "l 9 NI Rfayres Ao felEs.
(2) <rE HEYE ER,

(3) UF gEAE! W= (AU i

(4) o I TEAH A TR/ gRifan SR @ el

Six Indians have so for won the Nobel. Which of the following statements is not correct
about the Indian Nobel Laureates.

(1} Two Indians have so far won the Nobel for Physics.

(2) Both were Chandrashekhar

(3) One was the nephew of the other

(4) The junior of the two it for got “Optics Research”

142, 2001 =T TAUHTIR, AERTSN ROSIRT HHTUd JOwd] Shae= Al FURER T
e Frere.
(1) FRH - I T2 — O > TF T — Y Je0
(2) SR IN - FAIH - N[ — T T — 39 T
(3) WY — ORI — FARH — Y A — T T
(4) FAEF - T - IW YA — Y TN — HeA Y2

According to 2001 census, select the chain of states in descending order of their migrated
population from other states to Maharashtra.

(1) Karnataka — Uttar Pradesh — Gujarat — Madhya Pradesh — Andhra Pradesh
(2) Uttar Pradesh — Karnataka -> Gujarat - Madhya Pradesh - Andhra Pradesh
(3) Uttar Pradesh — Gujarat — Karnataka — Andhra Pradesh —» Madhya Pradesh
(4) Kamnataka — Gujarat — Uttar Pradesh » Andhra Pradesh — Madhya Pradesh

HOAT HTHIS AR /SPACE FOR ROUGH WORK
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143. SNEAR AdmLY T JqE TLUR WAl HEYHW A AGa 950 -
(a) Tmat aftarer 9 HraTt gfate (FeieRm) Tar gqE 9
{b) WETH foamoarsn 5 9.9, siope G Tet @a 20,
(¢) TUi=ATae TR S IRl @ ara) o 79 T 9 §%dd AR ST &,
(1) fta) (b 2} (), © 3 () © 4 @), ®)©
The tertilizer use efficiency in dryland crop production can be improved by :
(a)  Fertilizer application based on soil test and soil reaction

(b)  Placement of fertilizer about 5 cm away or below the seed zone
{¢} Basal application of P and K fertilizer and N application in two splits

(@ ® 2 (b © @ ) © 4 (@ ()
144. TERTETE Wiptaen fauT sioauamet wweanr 39, 38@ s ? HEF ARG TEE.

1y w3 (2) 9wEE B) T (4) SAwET T

For identifying the physiographic regions of Maharashtra, mainly three factors like height,

relief and is used. ‘

(1} rainfall (2) temperature (3} soil (4) direction of slope

145. 0 S e |
(a) & 3fean sy el Wl @
(b) T TN Y AL AT TS NI el S A @i Selia 7 Ul ki e 3
d mifta.
() dfF TR FoarT dF RrevaE 1§ Tee 19,
(dy T 1914 TR W W 0% RigA SRS Qe AT g o,
() T HATYH WU VA IeF AS TS .
(1) g waeE (2) M wR T
(3) e TS (4) STGEH 7o AR
Name the personality !

{a) llejoined India House.

(b) In case he died, he hoped that his next birth would be in India to complete the
remaining task.

{¢) He went to Paris to learn Bomb making.

(d) From1914 he gave himself for constructive social service instead of armed movement.
(e) He was better known as Senapati Bapat.

(1) Pandurang Mahadev (2) Gopal Hari Deshmukh

{3) Baba Padmanji (4) Vasudev Ganesh Joshi
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146. TREEHEH Gotets HoR faum/faum aiew i ?
(a) ¥ O U0 SHEEeEa u AR,

(b) T UH (HA/THAY W AL

() @ YrHfoew qaiorer it Hfew Tewmie siaisaar gy 9.

(d) ¥ TS ST wEcTe Y ST B,

(1} *H (a) () (b) & (c)

@ )3 (4) o wd

Which of the following statements about Ecosystem is/are correct ?

(a) Itis entirely a biological entity

(b) Itis an integrated unit

(¢} ltisastudy of interaction between physical environment and biological components
(d) Ttis a study of structural and functional aspects

(1) Only (2) (2) (b} and (d)
{3) (b}, {¢) and (d) (4) All above

147. T TEREN W WO HWMAT €0 AR AR R wWiene @, R ot e
feSem TR ATCSE! RV T TRET THRS B 7

(1) 98 AlFos (2) S dfew
(3) i wHatew (4) = T

While annexing the states, Lord Dalhousie adopted the ‘Docirine of lapse’ which was
earlier followed by one of the Governors General mentioned below. Who was that Governor

General ? '
(1) Lord Auckland (2) Lord Bentick
{3) Lord Cornwallis (4) Lord Rippon
148. YIvgi=al gEme & vl rae §9n (FOfainsy) St S 98y SR
31l ?
(1) THe @2) YOUER (3) TEAG FE @) FRERR
Which material causes abnormal calcification of bones and teeth of animals ?
{1) Nitrate (2) Flouride (3) Hydrocarbons (4) Carcinogens
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149. (a)

{b)

1)
(3)
(@)

(b)

55 10 74

HHAS WY Ugd TOTA HA A= Yud So GURUTHG! ari@) ..

FEA T THd TRA TS WIS e TN SIRY e SFTATHIE! ST .
Te Ry Torots! S Ty se o8 ?

(a) IS A (b) Tk 3R () <= (a) MO (b) TR ARA

(a) T S (b) TR MR (4 R () AW (b) F o

Contour bunding is a practice mainly adopted for conservation of water in low
rainfall area.

Graded bunding is a practice mainly adopted for disposing of excess water in high
rainfall area.

Which option is correct regarding above two statements ?

(1) * {a) is true and (b) is false (2) Both (a) and (b) are true

(3)

(a) is false and (b) is true (4} Both (a) and (b) are false

150.

fosien aRiaEt Tl =g mavds Tas! S ?

(1) 20 (2) 16 (3) 25 4y 18
How many elements are said to be essential for the growth of crop plants ?
(1) 20 (2) 16 (3) 25 (4 18

-00Qo0-
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AN — (g5 1 a6 3., )

®) weiEsasd fafsa Fowar fafire e &= ¥ (6 75) . Tiaseatit FawbER 7
TR FIEEL F FH FOAR 7 Ul FOG OH FO 3R, IR AMS TES I TTIR IHSHRE
WA SR Foe H riraimed T TR They sreaeene Sfiae-82 " ane TRETaR FHaE
TR AT T A S FHIG T G SO ST T U TR e <o s
RER

(9) IR FEIHIFRERE AT fafen FOT G Huar SIS € NHIRTH T a{at WEmaTarnt
Y97 ITAE WARTH AR, WTH YRS FHEFTARY WOATGE! INGART AT ITRAARAT W1
TUANEHEHS 7 F0ET wd ST 3ravden e

AT WA
T FAE 201, WOIS 960 TR FRUGRAST Sivft Tea: TS 592
(1) W@ g () Fve=g faEmErR
@ T aHE U @  IEE TS

W I A SW ' (3) T TR WA SR W 1 YR SO @) e Twd
WIS ¥ 3. 201 TS IR0 (3) ' ¥ 95 O sriifha Hed qrafad Savash
m% .

1920 D @ @ @

M TS YIS WY ERdie % TGl TA SAGhAIS o1 GRelol WA Rfaoen
T IIE @ & yETEEEie T9iy Tge [Tl SHEifed FEd qrEamEl. graier
e T T o ST, A ' eSO 9 T3
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